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Instructions:

Wb PE

)

Q.1 (a
1
2
3

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Fill in the blanks: 07
If A(3,2) and B(1,1) then AB=...............

Slope of a line 3x+5y-10=0is ................

Centre of the circle X*+y*-6x+8y+1=0is ...............

im tan @ _
6—0 9 e rrsrsraraaaaas

d —
X (COSX)=uvvuunnnnnnnn

j(tan X +sec® x)e*dx=................

wlcll ool YR 07
%l A(3,2) M B(1,1) dl AB=...............

UL 3x+5y-10=0 ol Bl ................ alA,

ddn x*+y*-6x+8y+1=0 o] So% ............... ULzl

im tané
6—0 9 i arrsrsrraasreas

d _
—(COSX) = eiiininnnnnn
dx( )

I(tan X+5ec? x)e dx=................

Do as directed:
Prove that the points (-1,0) , (0,3), (3,2) and (2,-1) are the vertices of a square. 04

If f(x)= ax+b then prove that f(x)-f(l )=1 03
bx +a X

Hioul Hoso s

AAd 5 ¥ (-1,0), (0,3), (3,2) and (2,-1) WAetll RQRALIg4 B. 04
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Q2 (a

wsl. R ()
1

(b)
1

(4)

Q3 (a

us.3 ()

1

(b)

ax+b
bx + a

o f(x)=

A WA 5A 3 f(x)~f(%)=1.

Do as directed:
Let A(8,6) and B(2,4) be two fix points. If a point P moves in such a way that

PA is always perpendicular to PB , then find the locus of P.
Find the equation of line passing through the point (4,3) and parallel to the
line x+5y+3=0.

Hioul Hosod s

A(8,6) v B(2,4) A ARl (g B.(gp Al A auld 52 B ¥ el
PA 3l PB &Rl clot @, ALP ol (clguel 0.

(g (4,3) Hiell UAR Udll dal Jull x+5y+3=0 ol UHIdR ulle]
uls20L .

Do as directed:

Find the equations of the tangent and normal to the circle x?+y?-2x+4y-20=0
at the point (-2,2).
Two lines 4x-ky=0 and 3x+7y-1=0 are perpendicular then find the value of k.
Hioul Yool s

ddn xP+y?-2x+4y-20=0 A (-2,2) (lgA 1das el u@caati w-lse0
el

QU 4x-ky=0 Wal 3x+7y-1=0 URRUR ol dlal l k 20,

OR
Do as directed:
Find the equation of the circle passing through (7,-2) and having centre (4,3).
Two lines 8x-5y+3=0 and 2x+ky+2=0 are parallel then find the value of k.

HioAUL Hoso R
(g (7,-2) Hill URR Ucll dal (4,3) Bosiclloll ddne] AlswL 0.
QUL 8x-5y+3=0 ol 2x+ky+2=0 URRUR UHIdR &lal cll k 20t

Do as directed:

im X' —16

Evaluate : x—2 X3 _8

im @ +sin x—1
Evaluate : x—0

X
Hioaul Yosod R
. im X' —16
(Suc e : x>27 3 g

. im @’ +sin x—1
(SHc 0 : x—s0 X

Do as directed:

Find the derivative of x* using definition.
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(&)

usl. 3 ()

Q4 (a)

us ¥ ()

If y:w then find d_y .
X dx
Hioul ool s

cqluiloll Heel X of ([Asctot s2A.
Rly=XHDX+2) 9 W g
X dx

OR
Do as directed:

Evaluate : ::Tm (\/n2 +n+1-—n)
im 67 —3—2"+1

Evaluate : x—0 X2

Hioul Hosod s

Bua 0 ™ (Vn?+n+1-n)
lim 6X —3X —2X +1

(EHd 20 : x—0 X2

Do as directed:
Find the derivative of e* using definition.

If y=xlogx then find a
dx

Hioul Hosod s
cyludlo{l Heedl e of [Ascot 5.

A y=x’logx Al j_i .

Do as directed:
If x?+xy+y?=10 then find :—y :
X

2

If y=ae*+be™* then prove that (; Y _kzy,
X

2

Hioul Hosod s
% x2+xy+y?=10 cll g—y el
X

d?y
=k?y.
dx? y

8 y=ae+he™ A Al 5A ¥
Do as directed:

dy

If x=a( @ +sin @) and y=a(1-cos &) then find i

Find the maxima and minima at the function f(x)=x*-3x+11.

H{oAUL Mool s

% x=a( & +sin ) W y=a(1-cos§) cll g—i el
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Q4 (a)

Q5 (a

(@B f(x)=x3-3x+11 oll UETH Ul ofotciit (BUAl 20

OR
Do as directed:
If y=(sinx)* then find dy :
dx
d?y
If y=acospt+bsinpt then prove that e p’y=0.

Hioaul Yol A

ol y=(sinx)* cll g—i .

2
o\ y=acospt+bsinpt dl UGt 5 3 %+ p’y=0.

Do as directed:

If s=t>-6t>+9t+4 then find velocity and acceleration at t=2 sec.

If y= log(x+v1+ x* ) then find g—i .

Hioul Hosod s

As sl ollde] UMlsR0U s=t>-6t+9t+4 B. Al t=2 A5ed Aol AIL el

yaoL .
%l y=log(x++v1+x? ) cll g—i el

Do as directed:

2
Evaluate : j _ COSex dx

cos® x-sin 2 x

2
Evaluate : '[ X +5x+6 dx

X%+ 2x
Hioul Yosol s

Bud A : jﬂdx

cos® x-sin? x

. 2
BN J.—X j5X2+6dx
X2 +2x

Do as directed:

T

4
Evaluate : _[ log(1+ tan x)dx
0

Find the area enclosed by the parabola y=x?, the X-axis and the line x=2 and

x=3.
H{oAUL Mool s

T

(SHc 0 : Tlog(1+tan X)dx

As y=x%, X-uel Al JHRAL x =2 ual x =3 dd AAAA YE2AUs] A

L.
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Q5 (a

OR
Do as directed:

Evaluate : _[ w dx

Evaluate : J.(4x3 —§+sin X —e*)dx
Hioul Hosod s
Buct 0 dex

X

EISENE j(4x3 —§+sin X —e*)dx

Do as directed:

T

v/ cot X

2
Evaluate : I dx
0

vtan x ++/cot x

Find the area of the circle x*+y*=a.
Hioaul Hosod s

dx
~/fan x ++/cot X
Ao xP+y?=a? dd ARAA YEals] Axgm 0.

Bud A : j a3,

*hhkkkhkkhkkikikikk
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